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9:43 | 1 JDSF D 57> JDL | CR HEREE | 10 1 6
9:47 | 2 | JDSF Cik#k ST JCL | SCR HERBE 7 1 6
9:53 | 3 | JDSF B#k# 57> JBL | SCRP R 6 1 6
10:01 4 | JDSF DIRE; 5T JDL | CR R OB | (6) 1 B 3L 5%
10:05 | 5 | JDSF C#k#k 5T JCL | SCR ROB | (6) 1 NE 42 5%
10:11 6 | JDSF Bf#k#E 57> JBL | SCRP RO | (6) 1 NE 41 5%
10:19 A23—/\)L (15501 JA7—E#R
10:34 | 7 | Y=ZFNABRIVA—F RAS |W F =EFE| 19 2 12
10:42 | 8 | SZFIMAFRIVZ—F GAS |W T =EFE| 14 2 10
10:50 | 9 /_Jﬁi%;?é’?i$; SAS |[(WTVwFQ |BK&FE| 22| 2 12
11:10 | 10 | Y=ZFNABRIVE—FK RAS |W F ERE (12) 1 6
11:14 | 11 | SZF7OAFREAVA—K GAS |W T ERB: (10| 1 6
11:18 | 12 /_Jﬁi%;?é’?i$; SAS |WTVwFQ | #3RE |(12)] 1 6
11:28 | 13 | Y=ZFNABRIVE—FK RAS |W F R OB | 6 1 NB 3L 3%
11:32 | 14 | SZF7IMARRIVF—F GAS |[W T R OB | (6) 1 JB31 3%
11:36 | 15 | 7 _1; E%i%;?é’?i$; SAS |[WT VuFQ RO |6 | 1 | IEE
11:46 VT 1 RAVE—RRE AF—4FUR
11:50 A3 —NL (BRIR300 M) 207 —&4%
12:20 | 16 | JDSF Bff# X454 —FK | UBS |[W T F —RFE| 26 3 18
12:38 | 17 | JDSF AfREf R4 4% —FK | JAS |[W T F Q —RFE| 26 3 18
13:02 | 18 /771;;%;7%%%& IAL [SCRP —RFE| 20| 3 18
13:26 A232—/3N)L (1053/)
13:36 | 19 | JDSF C## R4 %—K | JCS |[W T F =EFE| 16 2 12
13:48 | 20 | JDSF Bfi# 44 —K | UBS |W T F Q =EFE|(18)| 2 12
14:04 | 21 | JDSF AfREk R4 —K | JAS |[WTVWFQ |BRHE|(18)]| 2 12
14:24 | 22 /771;;%;7%%%& IAL |[SCRPJ |BEFE|(18)] 2 12
14:44 A23—N)L (1090) 7a7—F#R
14:54 | 23 | JDSF D#k# R2 42—k | JDS |W T R | 12 1 6
14:58 | 24 | JDSF C## R4 %—K | JCS |[W T F ERE ((12)| 1 6
15:04 | 25 | JDSF Bf# R4 4 —K | UBS |[W T F Q EREBE |(12) 1 6
15:12 | 26 | JDSF Affi X424 —F | JAS |[WT VwFQ EREE |(12)] 1 6
15:22 | 27 77@;%;’%’&%& IAL [SCRPU g | (12)] 2 6
15:47 A3 —/\)L (105D
15:57 | 28 | JDSF D#k# R2 42—k | JDS |W T R OB | (6) 1 B4 3%
16:01 | 29 | JDSF C## R4 4—K | JCS |[W T F R OB | (6) 1 JB 3L 5%
16:07 | 30 | JDSF Bf}# R4>4%—K | UBS |[W T F Q R OB | (6) 1 JIE 3L 3%
16:15 | 31 | JDSF AfR# R4 4 —F | JAS |[WT VwFQ R B | (6) 1 JBSE 3%
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